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12,000,000& «3H = 36,000
203 YR =&t 2,850 3,000 A 150
03 AIMF=XH R =AH| 2,850 3,000 A 150
OAld2e AMARFX 3,000,000 x95% 2,850
206 = Hl 1,000 1,000 0
01 MHZ 8l 1,000 1,000 0
o&dti2cl8 dHsE s ¥ 1,000,000& 1,000
401 AIEHI L 20HEI 63,000 30,000 33,000
01 A& tl 63,000 30,000 33,000
O=23IIetAId =3+ 2el 10,000,000& 14! 10,000
OBYUSH 4 B2
13,000,000 =104 2 13,000
OFstilssl &t JEEE &X
40,000,000 =104 2 40,000
Fstols &8s 762,276 926,745 A 164,469
Zstisz 2 24 580,190 735,836 A 155,646
2=z 29 580,190 735,836 A 155,646
101 @124l 30,846 27,292 3,554
04 JIZHHNZ2Z 2RSS E+ 30,846 27,292 3,554
O=HZ HE2el & oIol ol 19,729
—Jl=s 51,7603 x 18 246 12,733
—F54 51,7603 x 1«50 2,588
— x4 51,760& x1H » 122 622
— 40 EE 15,943,000& *14% 2,233
—Ex=z 51,7603 x 1«30 1,553
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O2stoli=3l2 HAl HLHE 0]
51,7603 x1E 100 5,176
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202 (4] 9,000 7,200 1,800
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60,000& *3H x50 9,000
206 T2 HI 1,000 1,000 0
01 X bl 1,000 1,000 0
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O=230s=z2 I8, =8 2A
40,000,000& x73] 280,000
O=230s=a2 I8, =& HAl
10,000,000 *43] 40,000
Ootgetad 4,000,000& *33] 12,000
Ost=225 sz 2d&s|gdsda2522AIY 60,000
— 02t 24 34 10,000, 000& *53] 50,000
— =g 2+ 39 5,000,0003] x23] 10,000
OFUEHEHE 2t AF = 2,000,0003| x53] 10,000
ORUAIE @20t &bl 24
200,000& *3H 43| 2,400
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M4 JIAHZERER 2 43,004 39,027 3,977
Og2n oty ¥ HArze 43,004
—-Jez 51,7609 2% x2462 25,466
= 51,7602 %22 x50 5,176
—oixtaet 51,7602 %28 12 1,243
—sURHct 51,7602 22 «112 x150% 1,709
—4aeE 33,594,0002! *14% 4,704
—gxnz 51,7602 x2& 30 3,106
— =y 200,0002 *42 23] 1,600
201 LB A H| 101,182 92,782 8,400
01 AL 22/ H] 36,882 34,482 2,400
ODEEAD ARt 286,0002 *10H* 128 3,432
OF=I| 21t 50,0002 *20H 122 1,200
OZIIHEI AXt 55,0002 *4CH * 122 2,640
Ogene 82 1Y 30,000 *200H 6,000
OO0 HEAY 29 A8Z Y
400,000€ *103] 4,000
OBAAANTAH 2 20,0002 * 100 2,000
ORSLHEIISIASG &HALe U oyl
150, 0002 %32 x23] 900
OLED 2% 9235 A
70,0002 * 152 x13] 1,050
ORe 2218 9xa 2,000,0002 *23| 4,000
O=AMEX AREE 7Y 200,0002 * 12 2,400
Os8 s83%s A 60,0002 *60 63| 2,160
OelZa M 30021 %10,0005 3,000
SEEL] 7.,0002 *3% 1002 2,100
OYE2n 2E GYEBHOIZR SHHME
2,000,000 * 14! 2,000
02 2229 26,300 20,300 6,000
Ost22 A% ¢ HHRS 282 7,700
—ARR2 7,000,000 * 14! 7.000
—Hoige 700,000 * 14! 700
O2z1 2 R2 =54 5,000,0002 %23 10,000
OsgtestaIl 22l 1,000,0002 *23| 2,000
Ost=2et2 o3 A3l 300,000 13} 300
OBMLEEERE 3 35/H 300,000 *13] 300
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OcunusoZzy 29 8,000
— ZA=EX =2 300,000& =103l 3,000
— 2o WA 10,000& *50H 103 5,000
Ogfsa IS8 HA 30,000
—dANZREE S EX 15,000, 000& 14! 15,000
—AMOIE E HE HMH 10,000, 000& * 14 10,000
— =282 A& L HEA 5,000,000& x13] 5,000
202 Odl 5,400 3,600 1,800
01 = LH o4 1l 5,400 3,600 1,800
Ol RS2l & =TE2 YRFI0H
60,0003 x3H 30 5,400
206 M= Hl 5,000 5,000 0
01 =8l 5,000 5,000 0
Odgodgs 29 A28 2¢
1,000, 000& x5& 5,000
301 g2 A= 4,000 4,000 0
1MIIEBELSS 4,000 4,000 0
OXRFSAXR(HEER01)+E
10,000& 29 x200 4,000
401 Al I 28I 20,000 40,000 220,000
01 A& HI 20,000 40,000 A 20,000
OL2ERE BEEXe 20,000,000& » 14 20,000
405 RHoHE S HI 3,500 6,500 A 3,000
01 et EZFHSHI 3,500 6,500 23,000
OAMOILt =4 e & oI X2 e
500,000 5K E 2,500
Oogas24 DV 1,000, 000& = 1CH 1,000
SSMI=EN22 29 390,298 359,300 30,998
AN =X 2 22t 390,298 359,300 30,998
S T )H2H 390,298 359,300 30,998
101 @124 dl 20,506 18,608 1,898
4 JI2ZtHZE2EXREES 20,506 18,608 1,898
OSE A EX2 HA 2l 19,729
—Jlas 51,7603 x 12 246 12,733
- &5 51,7603 x 1«50 2,588
Sl PN RSy 51,7603 x 18«12 622
— 42 E 15,943,000& * 14% 2,233
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OINH=A| Xt 286,000 x1CH*12& 3,432
O&=J| dxt 50,0003 ~4CH+123 2,400
O3JI1EEIYx 40,0003 x4CH =128 1,920
OHItIoN xt 30,0003 ~4CH+128 1,440
O=SEMEXN L MRES #&  700,000& 128 8,400
OoZdoa & & 4A2F £
500,000& »12& 6,000
O & 22& 2l MZE 6,000,000 6,000
OE2X =gl 7,0003 3 «180 3,780
OZoa e&E4H A28 2¢
500,000 =44 2~ 2,000
Odzzela A2&2[J] el 200,000 1204 2,400
03 &AL Z I 14,000 14,000 0
OMZA & =34 1,000, 000& *23| 2,000
OXE £HS3 12,000, 000& * 13| 12,000
202 oddl 7,200 7,200 0
01 = LH 4 1l 7,200 7,200 0
OSEAMsEXN2 28 2FA
60,0003 »3H 402! 7,200
206 M= Hl 7,920 6,000 1,920
01 24l 7,920 6,000 1,920
OZ2Iy2y DSIW 7Y
60,000& 2210t = *63| 7,920
301 AP B A 292,900 262,300 30,600
09 HALAHIE& S 4,000 4,000 0
OZA d&X As & Z2)H2H 2 &
SAx B3 2,000,000& 2,000
OMZAal & HFTLH3 HAFE 243 A
4 BEa3 2,000,000& 2,000
11IIEEAS 288,900 258,300 30,600
OZ A=Y 288,900
— AR LM 70,0003 #2304 Bt x103| 9 & 144,900
— LR LA 40,0003 =404 BH+103] 9= 144,000
405 THabH S| 10,000 10,000 0
01 AL EFHSHI 10,000 10,000 0
oZog JIANM 2 10,000, 000& * 14! 10,000
HY AT (BSAEASE L) 78,012 78,012 0
HY2IZH (2IAIE MG D) 78,012 78,012 0




2N
X ZH -
L= B

el

A HY B (SH) - HRAY - HES il
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O= &l 7,0003 x12H 25 2,100
Onx =SAI| Xtz 286,000 x1CH*12& 3,432
Ogxzd=g 13,270
— =& 30,000& 249 7,470
— 2 AH| 50,000 x116< 5,800
02 =224l 10,718 10,718
ORERS 100,000& 123 1,200
OXg =Xl 9,518
— gzl 1,980 +704 4123 6,653
— =l 300,000& x53| 1,500
—XAHEEBE= 1,300, 000& = 1CH 1,300
— NS XA 65,0002 = 1CH 65
202 O4dI 23,040 23,040
01 = LH o4 1 23,040 23,040
O A bl 110,000& 12 «12& 15,840
O 22 ¢ bl 75,0003 x 128 8L 7,200
203 2 EFH| 3,480 3,480
02 BRIIMPR=E 480 480
ORISR 40,000& x12H 480
04 RN2EHEF 3,000 3,000
ORN2ZYR 250,000& 123 3,000




